
qm=;= k=k=g++ eQf÷a[lQ kfpg]sf] gfd, y/ lnË afa'÷kltsf] gfd y/ eQf j[lQ kfpg]sf] 

hGdldlt

gf=k|=g+= / hf/L 

lhNnf
j8f g+=

01 1 g}g j= sfsL{{ k' tf/fbn 1988 117 1

02 2 /Tg j= sfsL{{ k' s0f{ j= sfsL{{ 1991 257 1

03 3 dfg j= j'9f If]qL k' ;GtjL/ j'9fIf]qL 1995 17593 1

04 4 ;j{nfn lu/L k' /fhjn 1982 273 2

05 5 cdfgWjh /fO{ k' kbddfg /fO{ 1987 15913 2

06 6 wg j= /fO{ k' clth /fO{ 1985 723 2

07 7 s[i0f a= sfsL{ k' eQm a= sfsL{ 1996 4.2915 2

08 8 a[if a= ;f?du/ k' eQm a= du/ 1996 4.192 4

09 121 /0f axfb'/ cfn] du/
k'

v8\u axfb'/ 2001 4.236.407 4

10 122 jfl0fljnf; vgfn
k'

5ljnfn vgfn 2001 6355.176 4

11 123 df]xg axfb'/ vqL
k'

bn axfb'/ 2001 4.290.34 5

12 124 dfg axfb'/ sfsL{
k'

s6s axfb'/ 2001 512.518 5

13 9 k"0f{ j= vqL k' bn j= vqL 1993 389 5

14 10 /Tg axfb'/ vqL k' ho axfb'/ 2000÷5÷5 4÷270 5

15 11 kbd axfb'/ yfkfdu/ k' df]xgl;+x 2000 4÷498 6

16 12 rGb| axfb'/ a'9fyf]sL k' nfnaxfb'/ 2000 246÷356 6

17 13 e}/ j= du/ k' dgjL/ 1976 4.521 6

18 14 u'Gh a= a'9fyf]sL k' ad a= a'9fyf]sL 1996 334 6

19 15 eQm a= du/ k' dfg a= du/ 1996 556 6

20 125 u+uf axfb'/ a'9fyf]sL
k'

kbd axfb'/ 2001 4.528.236 6

21 126 lj/ axfb'/ a'9fyf]sL
k'

xs{ axfb'/ 2001 4.340.206 6

22 127 v8\u axfb'/ yfkf du/
k'

wg] yfkf 2001 16289.58 7

23 16 dfg j= n'+u]nL k' x:t axfb'/ 1986 570 7

24 17 8Dj/ j= du/ k' t'n] du/ 1991 17655 7

25 18 nId0f u'df{5fg] k' s0f{jL/ 1988 705 8

26 19 g/ j= du/ k' jlb|dfg du/ 1990 715 8

27 20 >Ldfg du/ k' lw/ a= du/ 1996 678 8

28 21 g/ j= du/ k' cDa/ axfb'/ 2000 4÷1565 9

29 22 an a= anDkfsLdu/ k' bn axfb'/ 2000÷10 4÷580 9

30 23 bn j= du/ k' wgjL/ du/ 1990 2989 9

qm=;= k=k=g++ eQf÷a[lQ kfpg]sf] gfd, y/ lnË afa'÷kltsf] gfd y/ eQf j[lQ kfpg]sf] 

hGdldlt

gf=k|=g+= / hf/L 

lhNnf
j8f g+=

01 24 hfndfof sfsL{{ d dfg j= j:g]t 1995 265 1

02 25 eQm s'df/L sfsL{{ d 8Dj/ j= sfsL{{ 1986 247 2

03 26 tLhdfof /fO{ d nfns0f{ /fO{ 1987 200 2

04 27 wg;/L /fO{ d gGb] /fO{ 1994 216 2

05 28 wgdfof /fO{ d wg jxfb'/ 1996 154 2

06 29 hutdfof du/ d h+uWjh du/ 1987 68 3

07 30 k"0f{ s'df/L vqL d l8NnL k|= vqL 1999 246 4

08 31 k"0o s'df/L kf]v/]n 
d

j'l4nfn vbfn 1991 389 5

09 128 lnnfjtL vqL
d

k"0f{ axfb'/ 2001 2956.21 5

10 32 /Tgdfof du/ d eQm a= cfn]du/ 1996 4.557 6

11 33 dgdfof j'9fyf]sL d v8u axfb'/ 2001 444 6

12 34 lnndfof du/
d

u0f]z axfb'/ 061df 60 aif{ 546 6

lnDkf6f/ uf=lj=; – h]i7 gful/s 

lnDkf6f/ uf=lj=;= dlxnf  h]i7 gful/s 



13 35 dg s'df/L zfxL d O{Gb| axfb'/ 2001 568 7

14 36 lai0f' s'df/L du/ k' 8Da/ axfb'/ 1999 2959 7

15 37 u+ufdfof sfsL{ d  /0f jxfb'/ 1996 4.62 7

16 38 lbn s'df/L du/ d rGb| j= du/ 1991 646 8

17 39 ]cGtdfof du/ d 1996 4.672 8

18 40 eljdfof du/ d n5'dg du/ 1998 4.707 8

19 129 jgdfof du/
d

g/ axfb'/ 2001 4.714.355 8

20 130 dgdfof du/
d

k|ltdfg 2001 4.679.458 8

21 41 lnnfdfof tfdfË d lht axfb'/ 1998 1636 9

22 42 dgdfof tfdfË d bfg axfb'/ 1997 9

23 43 lvgdfof du/ d s6s axfb'/ 1997 4.1577 9

24 44 wgdfof du/ d bn axfb'/ 1991 32 9

25 45 dgdfof du/ d rGb| j= du/ 1996 4.166 9

26 46 ladfof du/ d kmf}b l;+ 1996 4.2098 9

qm=;= k=k=g++ eQf÷a[lQ kfpg]sf] gfd, y/ lnË afa'÷kltsf] gfd y/ eQf j[lQ kfpg]sf] 

hGdldlt

gf=k|=g+= / hf/L 

lhNnf
j8f g+=

01 47 gGb] sfdL k' kxndfg sfdL 2003 35 3

02 48 nfn j= sfdL k' wg] sfdL 2000 31 3

03 49 5j] sfdL k' sg] sfdL 2000 28 3

04 50 led j= bdfO{ k' Wjhdfg bdfO{ 1996 4.267 4

05 51 s[i0f j= bdfO{ k' s/] bdfO{ 2004 375 4

06 52 eb| j= ;fsL{ k' ;xb]j ;fsL{ 2004 361 5

07 53 wgla/ ;fsL{ k' ;?g] ;fsL{ 2009 4.428 5

08 54 xs{ j= ;fsL{ k' chjL/ ;fsL{ 1996 578 6

09 55 eQm a= ;fsL{ k' wg] ;fsL{ 2007 4.547 6

10 56 /g] ;fsL{ k' eb|la/ 2009 4.415 6

11 120 g}g] ;fsL{ k' x:t] ;fsL{ 2009 4÷530 6

12 57 d+un] ;fsL{ k' h;la/ 2009 4.418 6

13 131 g/] ;fsL{ k' db{lj/ ;fsL{ 2010 4.460.399 6

14 132 nfn axfb'/ ;fsL{ k' wg] ;fsL{ 2011 4.490.500 6

15 58 cf]t] bdfO{ k' 9'd|] bdfO{ 2006 692 7

qm=;= k=k=g++ eQf÷a[lQ kfpg]sf] gfd, y/ lnË afa'÷kltsf] gfd y/ eQf j[lQ kfpg]sf] 

hGdldlt

gf=k|=g+= / hf/L 

lhNnf
j8f g+=

01 59 gL/dfof bdfO{ d rGb| j= bdfO{ 1991 229 1

02 60 dgdfof sfdL d kxndfg sfdL 1986 37 3

03 61 ejdfof sfdL d k'0f{ sfdL 2006 36 3

04 62 lnnfdfof sfdL d 5a] sfdL 2005 32 3

05 63 pbodfof sfdL
d

l;+x axfb'/ 1998 34 3

06 64 ;Gtdfof bdfO{ d Zofd] 061df 65 aif{ 160 4

07 65 cd[tdfof bdfO{ d axfb'/] ;fsL{ 2004 4.19 4

08 66 lai0f'dfof kl/of/ d la/] bdfO{ 2007 109150 4

09 67 uf]/L ;fsL{ d g}g axfb'/ 2010 4÷531 6

10 68 8lNndfof ;fsL{ d x:t] ;fsL{ 2001 590 6

11 69 8NnL ;fsL{ d k[y] ;fsL{ 2006 370 6

12 133 ;]tLdfof ;fsL{ d g/] ;fsL{ 2011 4.416.621 6

13 134 sfnL ;fsL{ d /0f] ;fsL{ 2011 422.132 6

14 70 u+ufdfof bdfO{ d /fd a= bdfO{ 2008 4.693 7

lnDkf6f/ uf=lj=;= bnLt h]i7 gful/s 

lnDkf6f/ uf=lj=;= bnLt dlxnf  h]i7 gful/s 



qm=;= k=k=g++ eQf÷a[lQ kfpg]sf] gfd, y/ lnË afa'÷kltsf] gfd y/ eQf j[lQ kfpg]sf] 

hGdldlt

gf=k|=g+= / hf/L 

lhNnf
j8f g+=

01 71 /]zd s'df/L sfsL{
d

bn a= sfsL{ 2007 4.53 1

02 72 t'n;f s'df/L sfsL{
d

lht a= sfsL{ 2018 2923.11 1

03 73 cf]t s'df/L yfkf d 6+s a= yfkf 2017 3336 1

04 74 /]zd s'df/L a'9fyf]sL
d

6]s a= a'9fyf]sL 2012 4.4 1

05 75 e'dfb]aL sfsL{ d z]/ axfb'/ 2026 2074 1

06 76 eb|dfof yfkf If]qL d vf]k axfb'/ 265 2

07 77 k"0f{dfof yfkf 
d

s[i0f j= yfkf 2003 4672 2

08 78 ltns s'df/L sfsL{ d s6s a= /fpt 2006 4.262 2

09 79 lzjdfof du/ d hut axfb'/ 2006 4.291 2

10 80 /Tgdfof /fO{ d s0f{ a= /fO{ 2013 4.305 2

11 81 tf/fdfof ;'g'jf/ d dbg a= ;'g'jf/ 2011 4.151 2

12 82 lai0f'dfof ;'g'jf/ d dfg a= ;'g'jf/ 2005.1.4 26301.299 2

13 83 nf]s s'df/L v8sf
d

?b| a v8sf 2027 2422 3

14 84 sf}jf s'df/L kl/of/ d lht a= kl/of/ 2009 2247 3

15 85 lbndfof ;fsL{
d

8Nn] ;fsL{ 2011 4.96 3

16 86 nfndfof du/
d

nfn a= du/ 2014 71 3

17 87 ;'gdfof bdfO{ d hdfg] bdfO{ 2002 1388 4

18 88 nIdL s'df/L cfn] d ad a= cfn] 2006 2384 4

19 89 ltndfof du/ d If]q a= du/ 2019 1030 4

20 90 ;'gdfof >]i7 d t'n gf/fo0f >]i7 2010 282 4

21 91 lbn s'df/L lu/L d 2004 4

22 92 ef]h s'df/L vlq d s[i0f a= vlq 2032 250 5

23 93 dgdfof ;fsL{ d dfg a= ;fsL{ 2011 4.515 5

24 94 rl/dfof ;fsL{
d

sfn] ;fsL{ 2011 431 5

25 95 lnnfdfof a:g]t d lnn a= a:g]t 2005 433 5

26 96 x:tdfof du/ d O{Gb| j= du/ 2004 331 6

27 97 lai0f'dfof a'9fyf]sL d 2004 6

28 98 v8u dfof du/ d v8u a= du/ 2018 4.4704 6

29 99 6f]ndfof a:g]t d ltns axfb'/ 2025 1355 6

30 100 l;tf ;fsL{
d

t'n] ;fsL{ 2011 415 6

31 101 en s'df/L vlq d 6]s a= vlq 2011 4.501 6

32 102 nId0f s'df/L v8sf d 6]s a= v8sf 2014 379 6

33 103 o;dfof du/ d nfn a= du/ 2007 1997 6

34 104 ltndfof du/ d sla/] du/ 2011 555 6

35 105 t'n;L s'df/L k/fh'nL 

a'9fyf]sL

d
v8\u a=a'9fyf]sL 2038÷2÷31 2258÷39072 6

36 106 lbndfof du/
d

lai0f' a= du/ 2012 2180 6

37 107 s'G8nL du/ d g/ a= du/ 2013 4.1182 6

38 108 dfg s'df/L du/ d t'n a= cfn] 2025 4.2093 6

39 109 /f]h s'df/L a'9f d 6's a= a'9fyf]sL 2034 299 6

40 110 kfs'nLdfof du/' d lnn a= du/' 2015 370 6

41 111 O{Gb|dfof k'nfdL d O{Gb| a= du/ 2013 84 7

42 112 kDkmf du/ d t]h a= du/ 2024 4.2137 8

lnDkf6/ uf=lj=; – Psn dlxnf



43 113 kladfof du/ d lht a= du/ 2016 2960.68 7

44 135 v8Ldfof du/ d lht axfb'/ 2003 2961.52 7

45 114 t'ndfof du/ d s0f{{ axfb'/ yfkf 2009 8

46 115 cd[t dfof du/ d /Tg axfb'/ du/ 2008 709 8

47 116 ;+r/Ldfof du/ d led axfb'/ 2006 674 8

48 117 lji0f'dfof  du/ d k|]d jxfb'/ 2004 4.2096 9

49 118 nfn s'df/L sfsL{ d /Tg a= sfsL{ 2029 23 9

50 136 wgdfof tfdfË d wg axfb'/ 2004 422.132 9

51 119 u+ludfof 3n] d lt/nfn 3n] 2016 66 9



qm=;

=
afnaflnsfsf] gfd j8f g+= afa'sf] gfd cfdfsf] gfd hGdldlt s}lkmot

01 z'l;n du|ftL 1 nf]s axfb'/ 7ludfof 2070÷8÷9

02 dfg axfb'/ kl/of/ 1 lnn axfb'/ wg s'df/L 2070÷7÷13

03 la/ a= ;fsL{ 1 ?b| a= ;fsL{ cGh' ;fsL{ 2068.4.15

04 lkt[ ?rfn 3 v8\u axfb'/ lutf 2070÷9÷18

05 s'n axfb'/ kl/of/ # 1fg axfb'/ clDjsf 2071.7.26
06 xl/ axfb'/ lj=s= # nfn axfb'/ ;Ltf 2070.10.1
07 kf/; s'df/ kl/of/ 4 led axfb'/ a'gf s'df/L 2071.2.23
08 8fs axfb'/ kl/of/ 4 gGb axfb'/ ;Ltf 2070.9.11
09 efg'eQm kl/of/ 4 wg axfb'/ vLnfdfof 2071.3.27
10 tf/fs'df/ kl/of/ 4 gGb axfb'/ ;Ltf 2069.7.10
11 xf]d a= kl/of/ 4 5]q a= kl/of/ laGbf kl/of/ 2068.5.10

12 6]s a= la=s= 4 s[i0f a= sfdL cd[tdfof 2067.11.7

13 ltns = kl/of/ 4 wg a= bdfO{ lvndfof 2067.8.6rfn'  rf}dfl;sdf gfd x6fpg] ;+s]t

14
r]t s'= la=s= 4 rGb| a= sfdL clDasf sfdL 2067.8.3

15 l/t a= kl/of/ 4 bn a= kl/of/ cl:dtf kl/of/ 2069.8.24

16 sdn a= kl/of/ 4 1fg a= kl/of/ clDasf kl/of/ 2069.2.11

17 lji0f' axfb'/ kl/of/ 4 xl/axfb/ Ogb|dfof 2070÷1÷1

18 3d08 axfb'/ kl/of/ 4 gf]/ axfb'/ kbddfof 2069÷1÷15

19 lx/g lvn'Ë] 5 cDa/ a= lvn'Ë] lag'dfof lvn'Ë] 2069.7.20

20 k|]d axfb'/ du|ftL 6 g]q axfb'/ dgdfof 2069÷10÷20

21 ;f}/j ;'v|]tL 6 k[YjL axfb'/ alatf 2068÷6÷24

22 gljg ;'v|]tL 6 s[i0f axfb'/ lx/f 2069÷12÷23

23 o';j k's'{6L 6 8Da/ axfb'/ ljGbf 2070÷2÷22

24 ;'lbk ;'v|]tL 6 lzj s'df/ ?kdfof ;'v]{tL 2070÷9÷21

25 rGb| s"= c5fd] 6 g}g] ;fsL{ ;Gtdfof c5fd] 2067.8.29

26 la/ a= du|ftL 6 /fhs"df/ l;h{gf s"df/L 2068.4.31

27 lnn a= ;"v]{tL 6 ltv]{ ;"v]{tL pld{nf 2068.6.22

28 lbn s'= ;'v]{tL 6 bn a= ;'v]{tL t'nl; s'= ;'v]{tL 2067.5.23

29 rGb| a= ;fsL{ 6 ;fg] ;fsL{ s'df/L ;fsL{ 2067.7.4

30 ;'j/fh ;'v]{tL 6 an a= ;'v]{tL ;ldtf 2069.4.14

31 l8s s'df/L ;'v]{tL 6 ;fg] ;fsL{ s'df/L ;'v]{tL 2069.3.9

32 cg'k ;'v]{tL ;f]d a= ;fsL{ lagdfof ;'v]{tL 2069.8.18

33 r]t axfb'/ kl/of/ 8 pk]Gb| kl/of/ s]zdfof 2070÷5÷26

34 dlg/fh lj=s= 8 v8\u axfb'/ wgs'df/L 2071.3.18

35 OZj/ lj=s= 9 d+un a= la=s= 2070÷3÷20

36 k'/fk la=s= 9 d+un a= la=s= t'ndfof 2067.4.23

37 k|]d a= la=s= 9 5lanfn dGh' la=s= 2069.8.24

qm=;

=
afnaflnsfsf] gfd j8f g+= afa'sf] gfd cfdfsf] gfd hGdldlt s}lkmot

01 nlntf du|ftL 1 uf]7] ;fsL{ l;j s'df/L 2069÷9÷17

02 kfj{tL ;"v]{tL 1 nfn a= ;"v]{tL hfg"sf ;'v]{tL 2068.8.5

03 /lagf kl/of/ 1 lnn axfb'/ wg s'= bdfO{ 2068.9.12

$)_ lnDkf6f/ uf=la=;=

$)_ lnDkf6f/ uf=la=;=



04 dGh' la=s= 3 O{Gb| a= la=s= l;tf la=s= 2068.9.12

05 piff la=s= 3 O{Gb| a= la=s= andfof la=s= 2069.6.18

06 lx/fs'df/L l/hfn lj=s= 3 kbd axfb'/ sdnf 269÷7÷20

07 r'8fs'df/L kl/of/ 3 u+uf axfb'/ leds'df/L 2071.4.29
08 g]]qs'df/L kl/of/ 4 dfg axfb'/ lg/dfof 2071.7.9
09 dgdfof kl/of/ 4 nlnt vLnf 2071.6.15
10 lbndfof kl/of/ 4 If]q axfb'/ ljGbf 2070.12.30
11 dlgtfs'df/L kl/of/ 4 ulDj/ axfb'/ s'df/L 2071.6.23
12 n]; s'df/L kl/of/ 4 1fg a= kl/of/ clDasf kl/of/ 2069.2.11

13 s[i0f s'df/L kl/of/ 4 u+u a= kl/of/ led s'= kl/of/ 2069.1.14

14 lg?tf la=s= 4 led a= la=s= rGb| s'df/L la=s= 2069.7.30

15 d'gf kl/of/ 4 Ps axfb'/ nlntf kl/of/ 2069÷5÷29

16 r]t s'df/L kl/of/ 4 u+uf axfb'/ led s'= kl/of/ 2069÷12÷30

17 lx/f c5fdL 5 bfg a= c5fdL ;"ldqf 2067.12.13

18 ddtf du|ftL 5 df]xg a= sf}lznf 2067.9.2

19 cf]ds'df/L ;'v|]tL 6 lbk axfb'/ lg/ s'df/L 2069÷8÷29

20 n'gf ;'v|]tL 6 k|]d a= ;'v]{tL /]vf 2069÷10÷7

21 ladnf /Dt]n 6 8Da/ a= ladnf 2067.12.25

22 cf]d s"df/L ;"v]{tL 6 dfg a= ladnf 2067.4.26

23 laGbf s"df/L ;"v]{tL 6 b"u{ a= l;tfdfof 2068.2.19

24 a]Q s'df/L c5fdL 6 g}g a=  ;fsL{ ;Gtdfof c5fdL 2069.8.2

25 l;tf s'df/L ;'v]{tL 6 bn a= ;'v]{tL t'nl; la=s= 2068.9.4

26 dlgiff ;'v]{tL 6 an a= ;'v]{tL albdfof 2068.12.21

27 lutf s'df/L ;'v]{tL 6 ;]/ a= ;'v]{tL a]bdfof ;'v]{tL 2068.9.14

28 n]vs'df/L ;'v]{tL 6 ;lGhj ;'l;nf 2070.11.20
29 ?bdfof c5fdL 6 emDa' a= c5fdL la/f0fdfof c5fdL 2068.12.25

30 afn s'df/L ;'v]{tL 6 s'df/ ;'v]{tL afn s'df/L 2069.6.29

31 z'zldtf la=s= 8 ;'o{ a= la=s= ladnf la=s= 2068.10.25

32 t'ndfof kl/of/ 8 pk]Gb| bdfO{ s]zdfof 2067.9.16

33 d]lngf la=s= 8 ZfDa/ a= la=s= d+unL la=s= 2068.8.18

34 e]nLdfof lj=s= 9 oDa/ a= la=s= ;ljtf 2070÷6÷9



qm=;= k=k=g++
eQf÷a[lQ kfpg]sf] 

gfd, y/
lnË afa'÷kltsf] gfd y/

eQf j[lQ 

kfpg]sf] 

hGdldlt

gf=k|=g+= / 

hf/L lhNnf
j8f g+=

1 359 of]u s'df/L vgfn d af0fL lanf; 2047 100759 2
2 129 lvgdfof du/ d xf]d a= du/ 2065.2.13 9

qm=;= k=k=g++
eQf÷a[lQ kfpg]sf] 

gfd, y/
lnË afa'÷kltsf] gfd y/

eQf j[lQ 

kfpg]sf] 

hGdldlt

gf=k|=g+= / 

hf/L lhNnf
j8f g+=

1 a[v j= yfkf k' v''a axfb'/ yfkf 2020 4.266 2

lnDkf6/ uf=lj=; – k'0f{ ckfË

lnDkf6/ uf=lj=; – cflz+s ckfË


